Gas thermostats




Table of contents

Gas thermostats PEL 25/24

page 4
Gas thermostats SABAF
page 6
G
2
p
E page 7
o
=
3
o
page 8

www.electrolux.mk



Table of contents

Gas thermostats EGA

page 10
page 11
G
&
.
age
pag £
g
©
o

www.electrolux.mk



Gas thermostats

gas thermostats PEL 25S

itam otder {emgsratare s Inpot ® gas. fipet o bypots gt outlat W opipeooat - thrmocoupl oapillery. kmgth ¥ se0ae sonsor, langth Li/L2 spindle (mm).
4 (o nozzle fora lot ) cannactlon (o) i) (mm) {mm)
101441 30-90 Mi6x1.5 10 0.35 Mi6x1,5  10/8 MOxI 1200 6 160 21/15
101955 uwpo 140 MI6xI5 10 0.50 MI6xIS 10/8 Ml 1200 6 120 815 5
101442 100- 200  MI6x1.5 10 035 Mil6x!,5 10/8 M9xI 1200 6 120 21/15 .
I 101906 upto250 Miéx1.5 10 1.00 Mi6x1,5  10/8 MexlI 1200 6 120 36/20 36
101907  up to 280 Ml6x1.5 10 1,00 Mi6xI.5  10/8 M&xlI 1200 6 120 36/20 6
101991 100-300  MI6XI1,5 10 0 Ml6x1,5 10/8 M9xI 1200 6 100 2415
101172 100- 300 MI6§I,5 10 0.35 Ml6xl-,5 10/8 M9xI 1200 6 100 21/15 65
2 101332 120-320  MI6xI.S 10 0 Ml6x1.5 10/8 M9xI 1200 6 100 21715 ]
4 101901 50 - 300 pipe flange - 0,35 Mi6xI,5  10/8 MO9xI 1200 6 100 21715
101905 100-200 ©2Ilmm = 035 Mi6xI.5  10/8 MO9xI 1200 6 120 2415
gas thermostats PEL 24S
G
3
e oidet o, temparatare ('6) a8 topd 0 €8 ingot © Mypass. o6 ootlet 4 fipp onblet therinocoipla copillary o oamar  lowgth L2 agindle {min)
{mn). vzl tmin) {mm) wanoeition longlh o) from) samor {nm) {iom)
ﬁ 101078 55-110 M20x1.5 12 035 M20x1.5 12710 Mox| 1200 6 160 27/17
é 101077  110-220 M20xt5 12 035 M20x1,5 12/10 Mox| 1200 6 120 2717
q';, 101900  up10 280 M20x1.5 12 0,80 M20x1.5 12/10 M8xI 1200 6 120 31/15
=
n
8 106203 120 - 280 M20x15 12 035 M20x1,5 12710 MOx | 1200 6 120 27/17

101433 100 - 300 M20xI,5 12 0 M20x1.5 1210 MOx | 1200 6 100 27117
101076  120-320 M20x1.5 12 035 M20x1,5  12/10 MO9x| 1200 6 100 2117
106192 140 - 340 M20xL,5 12 035 M20x1.5  12/10 Ma8x| 1200 6 100 2917

8

10
:

‘ 10

101759 100- 300 M20x1.5 12 1,50 M20x1,5 1210 M9xI 1200 6 100 2717

8

10
q

’ 10

106193  up 10 90 0 M9x | 1200 6 160 2717

106194 uptol10 0 MOxI 1200 6 160 2717

106195 upto210 0 MOx | 1200 6 120 2717 §
? 03 100300 Aoy, = Nty ey MOx | 1200 6 0 27 |10

101159 120-320 035 MOxI 1200 6 100 27/17

106196 upto 350 MOxI 1200 6 100 2717

106197  120-280 e - 035 M20x1.5 12/10 MOx| 1200 6 120 27/17 5
3 lange

106198 140-340  ©2mm 0.35 M20x1.5  12/10 Max| 1200 6 100 27/17 10

www.electrolux.mk



Gas thermostats

accessories and spare parts for PEL 258 connecting flange
. ’ g ]
1 2 @3,
it ordac w0, degaription thruad a pipe (i) 1 2 3
1 101451 union nut Mié6xl1.5 8
it ardur deseription thraad. {
2 101300 union nut M1lé6x1.5 10 a =% 8 - e 2 2!
| 101240  gas comnecting piece horizontal M20x1.5 1210
3 101450 olive - 8 - ; =
d 2 101241  gasconneding piece vertical M20xI.5 (210
4 101278 olive - 10 -
3 101235  gas connecling piece horizontal M20x1.5  [2/10
4 101236 gas connecting piece vertical M20x1.5 12710
5 101365 gascoemnecting piece horizontal M20x1,5 (2

® $8.0
fam atdat oo, deserigtion Ahread o gt fum) ¢ LA
[ 100908 screw MIOXI 4 \\\\ O @

100909 M10x1 1 2 3 -

2 screw 6
3 101246 olive - 4 Wam onder o Sasriplon thrond o (mml
4 101286 ofive = 6 _l 101239  fitting ﬁ 10
2 101461  screw set = £
101460  o-ring - =

& W

101331  adapter tor flange d cables 1 2/10mm - -

wn

106165  gasket for pipe flange & 27mm = =

) 2'.‘ 3

itam ordor b, doseriplion

| 101060  magnetic unit
106199  magnetic unit nut M8xI '
106200  magnetic unit nut M9x| 1 2 .

3 101880  gasket for pipe flange 0 2Ilmm

(S

itim ordor o description G
bypass nozzle for PEL 25 I 101058 magnetic unit
106199  magnetic unit nut M8x1

w 106200  magnetic unit nut M9x 1

~

n
R ) b caif) S W e bypass nozzle for PEL 24 %
1 106191 0 8 100428 0,65 15 100407 1.00 g
2100259 0.3 9 100429 0,70 16 100435 1.05 -
3100281 0.40 10 100432 075 17 100436 1.10 m ﬁ
4 100414 045 11100409 080 18 100437 1,15 S
5100390 0,50 12100410 085 19 100438 120 i o S | il ¢ {om) e * (km)
6 100391 0.55 13100433 090 20 100413 1.65 1 106201 0 12100627 1,00 23 100699 1.5
7100392 0,60 14 100434 095 2 100776 175 2 100455 0,35 (3 100628 105 24 100250 1,60
accessories and spare parts for PEL 24S ] '004‘f8 i I‘_‘ ]006‘_‘? l‘[(_) o A 2
4 100458 060 (5 100655 1,15 26 100263 1,70
' 5 100459 0,65 16 100659 1,20 27 100264 175
e % B 6 100493 0.70 (7 100664 1,25 8 100265 180
1 2 3@ 46 @ ¢« 7 100494 075 (8 100666 1.30 29 100266 185
8 100497 080 19 100667 135 30 100267 190
i S i o i 9 100546 085 0 100674 1.40 30100268 195
TR ”"f°""“‘ e 08 10 100597 090 21 100677  1.45 32 100273 2.00
101251 union nut M20x1.5 12 1l 100598 0.95 22 100679 1.50
2101249 olive ; 10
3101248 olive . 12
100908  screw MI10x1 4
4 009009 screw M 10x1 G
5 101246 locking ring - 4
6 101286 locking ring - 6

www.electrolux.mk



Gas thermostats

gas thermostats SABAF

Gas thermostats

9

2

ordor g, toinperatary g iopat B gas inpot o bypess s aallel | 25 onllt 2 thermowupls aayilary o gmeer logly WAZ lmm) spivdle fom)
8 {mm) az () canniagtion lmgth  {mm) {mm)  snor )
101679 300 pipe flange - 0,35 S13E oy s M8xI¢{2x) 850 4 150 34/14
[0mm 8mm 8
101837 300 pipe fNlange - 0,45 N MIXEID/ veciax) 850 4 140 3414 168
[0mm 8mm
101692 300 MI13x1 8 0,50 NI - M8x| 850 4 140 34/14 6
[0mm 3
101173 300 Mi3xl 8 0,80 i Max| 850 4 140 3714 56
[10mm 6
101687 300 pipe Range - 0.45 il M8x| 850 4 140 17/12
8mm ) gﬂ
101886 300 pipe flange - 052 gﬁ:;“l w/ - M38xI 850 4 140 17/12 8
101181 300 pipe flange - 0,46 Ig/ll‘:ixl B/ - M8xI 850 4 150 45/27 @B
ordor a0, Lemperalire Qe inpit o 725 dnpat b bypass g oatlat | ¢ ool 2 Uawaiple aplllary loogth o semsor Jongth LI/L2 fmm) sindlo {rm)
6 ) nozzlp {om) conmoction lm) fm) oamat ()
101694 300 pipe flange 0,38 MI3x1 [D/ - M8x1 850 4 150 29/29
8mm 6.5
101695 300 pipe flange 0,52 MI13xI D/ - M8x1 850 4 150 29/29 8
8mm
101836 300 pipe flange 045 3/8"ET/ MI13x1 1D/ MB8x1 (2x) 850 4 140 34/14
2 [Omm 8mm 8
6,5
101175 300 pipe llange 0,35 3/8"ET/ MI13xI ID/ MB8xI(2x) 850 4 150 23 65
- [0mm 8mm P
8

www.electrolux.mk



Gas thermostats

accessories and spare parts for SABAF

e 4 W O 0%‘

am odef n, doscription theoad 5 9ipa o) iem  ondir ne. dasariplion
101476  union nul MI3xI 8 1 101375 fixing flange
I 101478  union nut 3/8" 10 2 693074 pipe
2 101477  tube nut Mi3xI 8 3 101376 fange gasket
— - IOI 277 olive - 4 101351  flange bracket
. 101278  olive - 10 5 101751  flange bradk et
6 _3453 m icr-o swilc? o

gas thermostats COPRECI/IMIT

G
item  order no, prodiger tomparare Ppe inut o ple nget o bypss gas outlst pilot durmar Unrmacoaple aapillary o sensor  sansor length b2 e spindlo {mm)
) (L) aazile () naien conngetion fongth () {mm) (o)
101333 Copreci 110 pipe flange - 0,35 3/8™ 1/8™ M8xI 1000 -7 130 33/12 . "
= -l
{ 109534 Copreci 300 pipe lange - 0.50 3/8" 118" M8xI 1100 4 84 33/12 >3 g
109051 Copreci 300 pipe flange - 0.60 3/8" 1/8™ M8xI 1100 4 84 33/12 ‘ g
n 5 2
2 106016 Imit 300 e 3 - 045 17 M8x | 840 4 150 2711 : 3 -
&)

accessories and spare parts for COPRECVIMIT

O -
y PO

fow ortor m. Jusariplion damondor mo, duseription
1 101060  magnetic unit 3 101376 flange gasket
2 101538  flange bracket 4 1015337 flange gasket

www.electrolux.mk



Gas thermostats

gas thermostats ROBERTSHAW

%)
hom  ordar m, temorataie ['6) tampertars {F) ingate M gt/ copillary longth 2 sensor loagth gland Gl fmm) oo, Robertehiaw pindfe {mm)
g8 ootfol i oetlel {mm) {m) 3on0r (o}
580054 26-93 80-200 MIIX1ID 1/4* 610 9.3 130 3/8" 21 GSE 070240000
580051 93 - 190 200-375 MIIx11ID /4% 460 6.4 320 t4" 23 GSE 020180000 a6
580052 93 - 190 200-375 MIIxI ID L4 610 9.3 130 3/8" 21 GSH 30240000 6
| 580041 93 -204 200-400 MIIxIID [47* 760 9.3 130 4 21 GSA 60301800
580053 93 -204 200-400 MIIXIID /4 1530 9.3 130 3/8" 21 GSF 90602300
580055 93-190 200-375 3/8" 1D - 1830 8 190 - 47 GSE 030720000 g
580056 65 - 287 150-550 3/8"1D - 1400 5 390 - 21 FDTOE 30254 —
y 580057 up 1o 287 low - 550 122" ID - 1400 5) 390 - ) FDTE 010154 11,2
580058 65 - 287 150 - 550 - 1400 5 390 - 21 —
580059 93-204 200-400 3/8"ID - 600 8 250 - 21 FDL 30136 L
3 580060 65 - 287 150 -550 i/2"ID - 1250 5 390 - 21 FDO 10748

* /4" pipe (american) = 6.5mm

Gas thermostats

Rom  ordr o, Lamparatire 61 temporstura (°F) gas lnpel/gas putlet pipe input pipe outlat capillary length (o) # sonsar (mm) sonaaf longth (mm) LI/2 fom)  type spindle (mm!
1 580061 100 - 300 212-572 flange holder 3/8” 720 5 200 25/15 RTGJ Q—iﬁ

290 - BJW =

2 580062 93 -287 200 - 550 flange holder 7/16™ pipe 1200

w

www.electrolux.mk



dsnermosiats

s, ordes na. tomperatare eas fopuL/ gar fopaty/ aapillary length © ansor (M) sefot fongth {me) gland thormoaguplo oomwéction Lype
(14] g oitlet P oitlel [mm)
580063 50-110 347 3/4” 900 XS 149 3/8” ASA 11/32 RGIST 1
580064 90- 190  3/4” 3/4” 1200 6 160 3/8" ASA 11/32 RGIST 2x160
: 580065 100-320  3/4” 3/4 900 39 223 - ASA 11/32 RGIST3
580066 100-450  3/4” 3/4 900 3.9 210 - - RGIST 4

accessories and spare parts for ROBERTSHAW

1% 2% 3% 4ﬁ

e onler a0 duscription thread ¢ fipe (nm)
| 106111  twbe nut with olive Ml ixI 6
106109  twbe nut with ol ive MlixI 1/4"

2 106110 union screw Mlix| 1/4"

3 101263  slotted nut for thermocouple ASA11/32 - G

4 101481 olive 4 1/4" CCT
2
S
(7:]
:
[T
=
0
[1°]
o

www.electrolux.mk 9



Gas thermostats

gas thermostats EGA

itom  ordar oo, typo tmpersturs (°6) o oot a gas inplt ()} o atlat 8 pipo outlet {m) thennacoapla. eonasction tamperatare sgnsor
nla* 25213 30-100 MIsx| 10 3/8" 10 M8x| type |
nla* 25213 100 - 200 M1 5xI 10 3/8" 10 MB8xI type 2
I nla* 25213 100-250 MI5xI 10 3/8" 10 M8xlI type 3
nla* 25213 100 - 300 MI3x1 10 3/8" 10 M38xI type 3
nla* 25213 100 - 300 MI15xl| 10 MI7xI 12 M8x| type 3
2 nla* 21495 100-200 MISxI| 10 3/8" 10 Mex| type4d
nla* 21383 100-200 M18xI1.5 12 MI18xl1.5 12 M8xI type3
nla* 21383 120 - 300 MI8x1.5 12 MI8x1.5 12 MB8xI type 3

*no longer avinlable

accessories and spare parts for EGA

/—«—/b— .
/*7//*%?//5‘ 4

2

12
%
=] wm  order no, temperatars (0} capillary faagth (mm) o ot (mm) sensor Jeagth {mm) anphication e o8 Sharmutot gland 13p EMpORLae T
E 1 102743  upto 125 900 8 160 bain marie, oven, pasta 5 1
< cooking unit
g 2 102135 up 10 200 900 ) 150 fryer Mi2xI 2
252
® 10233 wpt0320 900 8 90 oven i - 3
102134 upt0320 1250 8 90 gillplag 3
3 baking tipping pan
4 102197 up10200 900 5 135 fryer 21495 MI2x1 4

1 &

2

tem ordr o dascrigtion

1 101230  magnetic unit nut M8x |

101231  magnetic unit nut M9x 1

101233 magnetic unit nut M10x1

2 101060 magnetic unit

3 101058 magnetic unit

www.electrolux.mk
10



Gas thermostats

gas thermostats BABYSIT

Im order o, Lirporature {°6) 08 foput gné cutlat thermosoapte connoatisd copllsry fongth  {imm) ¥ snsor tmm) sswm logth {mm) na. §it
1 101103 manual 3/8” 3/8” MOx | without thermostatic control 0.660.190
106031 30-90 38" 3/8” M9x | 1000 6 230 0.660.193
101104  30-110 3/8” 3/8™ M9x | 1000 6 237 0.660.806
101889  30-110 3/8” 3/8” MO9x | 1000 6 237 0.660.802
101105 75- 315 3/8™ 3/8” MO9x | 1000 5 185 0.660.606

gas thermostats AC2/AC3

1
G
o ondar tomperature: (6} gas inpat gus outlat Mbermacauplo: cannaction gressora oankrolfar w. 8t
1 101439 20-70 378 3/8” MOxI < 0.610.016
2 101440 30-70 12" 12" MOxI 3- 18 mbar 0.610.001
3
-
accessories and spare parts for BABYSIT, controller AC2/AC3 g
2
]
7]
©
(U}

1 2%;"'-@: @ @ k a\ : ® g\-)

ilam onder 0. description itam order o, dascription
_l 1(50601 }Jié;;electric igniter ; ) _5_ 1_62’-8_7_5 m-in_imum adjusting screw 0 0,70mm _
2 101055 magnetic unit 100904  locking screw @ 4mm
3 100903 magnetic unit nut . 100905  locking screw @ 6nmin
4 101333 stuft3/8* with o-ring 7 101273  olivea 2mm
5 102874  minimum adjusting screw without hole 8 101276  screw connection 3/8“ - @ 12mm

www.electrolux.mk o



Gas thermostats

gas thermostats MINISIT

1 3
llam ordor a0, tompentare (%6) £ gkt g0 oullit horiosaoaple aapiltary. lorgth o sorsor (mm)  semsor fongth ) sasor prossare. glond 0. i
connction (mm} (p-44) nantroller

3 101106 manual 172" 3/8” MOx| - - - - - - 0.710.106
S 101431 13 -38 1/2” 12” MI10xI 1050 8 120 tvpe EI yes - 0.710.125
2 101910 20-90 |2 3/8” MOxI 1050 14,5 19 tvpe F2  yes - 0.710.852
4 101432 30-90 127 127 MO9x| 1050 8 100 tvpe E2  yes - 0.710.199
1 101130 30- 100 127 3/8” M9x1 1050 5 125 type Al no - 0.710.850
2 101088 30- 100 12 3/8 MO9x| 1050 5 125 type Al yes - 0.710.851
6 106030 40- 110 127 3/8” M9x1 1050 5 125 tvpe Al yes - 0.710.817
7 101689 40-110 12" 3/8” MOoxI 1050 5 ¥25 type Al no - 0.710819
2 101912 50-190 127 3/8” MoxI 1050 144 14.5 type FI  yes - 0.710.752
101131 50-190 12" 3/8” MOx| 1200 S 95 tvpe A2 no - 0.710.750
1 101135  110-190 127 3/8” MoxI 1050 6 105 tvpe A3 no - 0.710.756
101434 110-190 1727 3/8" M9x1 1200 5 105 type Gl no - 0.710.758
; 101437  110- 190 12" 3/8" MO9xI 1050 6 105 tvpe A3 yes - 0.710.757
G 101114 110-19 12 38" MOx| 1050 144 26 type F3  yes . 0.710.754
1 |0|67§ 110- 190 _l/'_’” 3/8” MO9xI 1050 ]4._4 ;’6 ty:peE no - 9&760

Gas thermostats

www.electrolux.mk

12



Gas thermostats

| Y
k". . —

8 9
Ko oidor o, tamperolare ('} £ laput . outlete Urmocntple capillary fongth o shusr ssusar longik sunsar (.18) pressare 2hid o, §it
connstion (ma} ) tmm) contcollae
1 101385 60 - 200 3/8" 3/8" M10x! 1050 5 95 type D2 no Ml4x1.5 0.710.724
8 106029 120 - 200 3/8" 3/8" Mox1 1050 6 105 type DI no Ml4x1,5 0.710.743
I 1001132 100 - 340 172" 3/8" MOx | 1050 ] 70 type BI ne - 0.710.650
I 100134 100 - 340 12" 3/8" MOox | 1800 5 70 type Bl no - 0.710.652
2 101438 100 - 340 12" 3/8" MOxt 1050 S 70 type BI yes - 0.710.651
I 101796 100 - 340 172" 3/8" MOx! 1800 5 70 type BI yes - 0.710.657
1 101435 100 - 340 12" 3/8" MOx | 1050 4 73 type Cl no - 0.710.654
8 102873 140 - 380 12" 3/8" M9x i 1050 4 72 type C2 no - 0.710.648
9 101768 160 - 380 38" 3/8" M10x1 1050 3 68 type B2 no - 0.710.618
10 106018 160 - 380 12" 3/8" M10x! 1050 ] 68 type B2 yes & 0.710.656
12102872 160 - 380 3/8" 3/8" M10xI 1050 5 68 type B2 no - 0.710.619

10

2

‘.

www.electrolux.mk

Gas thermostats

3



Gas thermostats

accessories and spare parts for MINISIT

A e 1~2m S e

y A o o fesripion ried
2 7// o ;h 1 IOI50_5 conneclﬁg flange 3/8+

2 101504 connecting flange 12

3 101516 screw for Aange holder
3 %0y //f// Eg/é 31812

4 101517  screw for flange holder 1/2* -

w

100809  o-ring <

5 - o

dom  order no. temperatire cepiliary tongth o sonsor langth application s 1
(4] {mm} somsor. () tyje
1 102106  13-38 1050 8mm 120 oven El o ordar an, decripion
2106223  20-90 1050 v4" 19 bainmaric T2 I 110068 knob
1102017 30-90 1050 8mm 100 bain marie  E2 , 101053  magnetic unit M9x|
102100  30-100 1050 Smm 125 bain marie Al 101054 magnetic unit M10x|
: 102103 50-190 1050 smm 95 fryer A2
I 50- 190 1050 V4= 145 frver Fl
102104 110-190 1050 14 26 frver F3
4102105 110-190 1200 Smm 105 frver Gl
102118 110-190 1050 6mm 105 fryer A3
; 102844* 60-200 1050 Smm 95 fryer D2 )
G 106225 120-200 1050 6mm 105 fryer DI 1 2
102102 100-340 1050 Smm 70 oven/grill Bl T o R TR
5 102107* 100 -340 1050 4mm 72 ovengrill  Cl I 101267 reducer 38" 12
106226 140 - 380 1050 4mm 72 oven/grill 2 2 101270  connection Ating 38" 38"
106227 160 -380 1050 Smm 68 oven/grill B2 3 J0VRL  omeehon Fng 2 v
*capilfury’ pipe and seasar. CNS 4 101272  cennection fitting 172" 3/8+

*¥na langer available

Gas thermostats

L N .0

‘ fom  ofdor e dugesiplion thread w90 (mmi
= 175 H & e
1 2 3 i 101275  union saew 1/2 16
101276  union screw 3/8+ 12
b W B - ! 101274 locking ring 5 16
- g . 9 .
1 101136  piezoelectric igniter with slot cover ° 101273 tockingring 3 12
2 101137 slotcover
100904  locking screw M10x! 4
3 100001  piezoelectric igniler 3
100905  locking screw M10x1 6
4 100820 gland Ml4xl,5 -

14 www.electrolux.mk



Gas thermostats

gas thermostats EUROSIT

item ordar fo. mperalere () PR o5 ontlet therrrocoarts. connection apillary longth (mm) o @eoer (om) sengor fopgut (inm) . 3t
1 101199 13-38 3/8” 3/8” MI0x | 1000 8 120 0.630.025
101413 30- 100 3/8™ 3/8” MoxI 1000 5 120 0.630.325
101188  110-190 3/8" 3/8" M9x| 1000 4 205 0.630.332
101992 110-190 3/8” 3/8” MO9x | 1000 4 205 0.630.337
101409 40 -280 3/8” 3/8” Mo9xI 1000 4 72 0.630.328
. 101696 60 -300 3/8 3/8" M9x| 1000 4 72 0.630.330
101915 80-320 3/8" 3/8" MO9xI 1000 4 72 0.630327
101700 100 - 340 3/8" 3/8” MOxI 1000 4 72 0.630.331
101125 100 - 340 3/8" 3/8" M9xI 1000 4 72 0.630.326
106035 100 -340 3/8" 3/8™ M9x1 1000 4 72 0.630.336
102870 140 - 380 3/8” 3/8” MOx| 1000 4 72 0.630.205
3 101769 100 -340 3/8 3/8” MI0x 1 1000 4 72 0.630.206

accessories and spare parts for EUROSIT

G
3 ’ ‘ \ Q, h :
1 2 3 4 6 7 i 4 8
[tem; ordat ne. duseription soltuble for itom  nrdar ne. deseription saikable for 'ch
I 101358 cover with piezoelectric igniter 5 101711  adapter for knob o 10x8mm Zanussi ';;
2 101392  adapter for knob 6 101712  adapter for knob o 10x8mm Olis 8

: 101390  spindle o 6x4.6mm Zanussi/Mareno 7 101816  adapter for knob o [10x8mm Mareno

110357  spindle 8 8x6.5mm Zanussi/Baron 8 113022 adapter for knob o 10x8mm Fagor
4 110358  adapter for knob o 10x8mm Zanussi

oD\ e

ol o, desripion

1 101050  magnetic unit
2 101273  oliveo 10mm

3 101276  screw connection 3/8“/0 12mm

100904  locking screw g 4mm
100905  locking screw 0 6mm
5 101333 stuft'3/8" with o-ring

www.electrolux.mk
15



Gas thermostats

gas thermostats MP/JUNKERS

iten andar a0 tampatalare (°8} B0 et g8 ontlol pressang thormecetple. canroctinn capitiory foogth (o) o snsqr (o) aonsor fongth 10, dunkerse WP
contrlior Ll
106216 30-110 - - no Mi0x1 - - - 7743-610-501
1 101167  135-200 3/8” elbow 38" straight  no M10xI 920 6 220 7743-633-201
106215 170 - 300 3/8" straight 3/8" srraight  no Mi0xI 820 6 100 7743-633-202
106217 30-110 - - yes M10xI - = - 7743-610-601
2 101177 135 -200 3/8" elbow 3/8 straight  yes MioxlI 920 6 220 7743-643-201
106024 170 - 300 3/8" straight ~ 3/8" straight  no MI10xI 820 6 100 7743-643-402

accessories and spare parts for MP/JUNKERS

:
k.9
AY

i »
1 3 4@ 5 &
item ordor m, duscription
] 1 100039 piezoelectric igniter for 106024
-03 2 101060 magnetic unit
E 3 101276  screw connedion 37/8"/@ [2mm
) 4 101273 oliveo |2mm
=
";, 102137  sensor 135 -200°C for 101167 + 101177
3 5 101407 sensor 130 -300°C for 106024 + 106215

102154  sensor30- 110°C for 106216 + 106217

www.electrolux.mk
16



Gas thermostats

gas thermostats MERTIK

(] otdar 10, Lontporatiry (6} a8 injut o8 aulfal tormasoupl capillary o suar longth pressoso g MERTIK-no.
bounn! dgawise battom adgowise connoction losglb twroh {[] sansor {mie) capirolle
| 101966 30-110 - 3/8” - 3/8” M9x1 720 6 80 - - GV3IT-C2AKA2KO0AOD
2 101786 30-110 3/8"  3/8” 3/8" 3/8" MI10x1 720 6 80 - - GV30-CSAKH2C0
101982 110-190 38" 38" 8" ¥ M9xl 720 4 160 5-d0mbar -  GV3IT-CSAXE2KOYO
1 101979  110-190 38" - - 3/8" MO9xi 720 4 165 5 - 40mbar - GV3IT-C3AXE2K0YO0
101746 100 - 195 3/8" 387 38" 3/8” MI10x] 720 6 70 - /4 GV30-C3AUA2C000
2 106222 100 - 195 3/8”  3/8" 3/8"  3/8" MI10x] 720 6 70 - /4 GV30-CSAUA2COL.0
101959 100 - 340 38" - - 3/8" MOx1 720 4 68 2.5 -20mbar - GV30T-C3A7A2K6
101957 100 - 340 38" - - 3/8” MOx1 720 4 68 - - GV30T-C3A7A2K6AN/|
: 101960 100 - 340 38" - 38" - MO9x1 720 4 72 - - GV3IT-CIA7TAGKO00¢
106205 100 - 340 38" - 38 - MOx] 720 4 68 - - GV30T-CIA7AMK6Z0
101745 100 - 340 3/8” 38" 38" 3/8" MI10x! 720 4 68 - - GV30T-C5A7A2C0
2101744 100-340 /& I® &S ET MIOXI 720 4 68 - - GV30T-CIA7AGC000

accessories and spare parts for MERTIK

G

2

- e 3

1 2 8
E

ey oidar no. deseription @
L

1 101276  screw connection ‘:‘n‘

2 101273 olive ‘g

3 106221  magnetic unit

www.electrolux.mk 17



gas thermostats STN3R

s ordor 10, tomparatare {761 s Inpit e outlot apliary lenglb () o sensor {mpl mesor ongh {mop)
1 106207 110 1127 127 1200 6.5 200
2 106208 200 127 1/2» 1200 6.5 140
3 106209 300 172" /2" 1200 6.5 130
1 106210 450 1/2 /2" 1200 6.5 250

accessories and spare parts for STN3R

ita ordor 0. duscription
106211  knob STOP

1
2 106212 regulating knob 2 -8

Gas thermostats

www.electrolux.mk
18



	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18



